XHBRRH

DAXIANG MOLD PARTS

P ERAHRT/ P ERLE Y
POSITIONING CLAMP SERIES POSITIONING SLIDE www.moldparts.cn

Hasaotr RE L iBRZ07

Typ1 ~
SKD11+RE® 58~82HRC

TR Catalog No. R~ Size BH(¥) E
RE Type &8 Model e R Tl T o R Price i
%%ﬁ . 1 20 : 15 26 40 22 16 g %% ;};

SRS 13 68 22 11 66 19 81 4 27 20 e
=
— %ﬁéﬁgﬁ . 14 25 9 27 3 50 3 25 % E% %
= ;‘“‘,m 19 9 32 15 9 1 3 45 63 48 3R o e ;-;i
%EEE&O o 22 11 3 18 11 15 40 60 85 56 40 13 ﬁ;:;% g
S 24 13 40 20 14 18 48 74 100 66 50 ., .00 3
8
Hasaotrft E L igRZ17 8

L = - fz%\ow 11-0.1

b1g4
ba
|
b2H5 d

* ' N
= I4L_—'U 5
1235 o8, Material | Hardness

SKD11 68~62HRC

TR S Catalog No. R~F Size HH(¥)
8 Type =S Model | r ts t2 t d2 di ls Is bs b1 l2 bz Price
Z17/22/16 12 20 15 26 40 22 16 300.00

Z17/27/20 s 14 @82 22 | 103 63 i 19 31 45 27 20 350.00

DX055 Z17/36/25 . 15 25 9 27 3 50 36 25 400.00
Z17/46/32 20 9 32 15 9 11 35 45 63 46 32 500.00

Z17/56/40 > 23 0 36 18 11 15 40 60 85 56 40 550.00

Z17/66/50 25 13 40 20 14 18 48 74 100 66 50 600.00

56




XHBRRH

DAXIANG MOLD PARTS

> BRI BB e
Round positioning lock / lock upright positioning

> FEEAIS\

Square positioning lock www.moldparts.cn

E&REME Z06 FHERIEAS YSL... YSLM...
O#HE | 0 & DEREHE
'- ww.moldparts.cn B e —
. . L13  50~56HRC 80HRC
@
s1 s1 ;
ol 05
o8 T2 L 4 Fenale
) /_J] ]
~ ©
s Al i o8&
= —=I— ! v‘?}_L i :f b i m‘mm W T A B R: e B 81/82 b 111 ‘ﬁ(¥)
P LN | RS Type BF Model | oo o w0 +000 C ot 0% R 0.1 SH.CS s
E : "4 <13 ] YSLe7x100 | 1.000 375 58 5 e #10-321/2* 150.00 {%
YSL50x125 | 1.250 .490 ) .68 : 250 . 180.00
4 YSL50x150 | 1.500 .\ 875 876 56 563 T nae 180.00 )
g DX058 YSL50%200 |2.000 1.875 .66 750 2.250 312 #10-825/8° 200.00 g
5| YSL50x300 | 3.000 .750  1.875 1.18 1.250 2750 250 875 1/4-20%3/4" 200.00 3
TR Catalog No. Rt size BHH(¥) YSL100x400| 4.000 1.000 2375 125 1.500 8.750 500 3/8-16X1" 200.00
#2 Type B'S Model| t ds d Is la Is I2 I1 S1 bs Price YSL125x500 | 5.000 1.250 0.0 1.376 1,68 2.000 P -500 o 1/2-13X1-1/4* 250,00
g Z06/30 5 4 5o 16.5 4.5 20 11.5 10.5 36 30 200.00 S8L150x 600 | 6.000 1.500 1.78 2.500 i 1/2-13x1-1/2" 300.00 g
§ DX056 Z06/42 7 b 18.5 5.5 15.5 14.5 46 42 250.00 §
g Z06/54 8 6 Mi2 20.5 75 25 18.5 17.5 56 54 300.00 g
o z06/80 | 11 8 Mi6 255 : 30 285 275 76 80 350.00 FERECH YTL... 9
3 (ME-2SIMHE: J: 3 (HE 3159 3
: :
?a': HasaokrEE R E (I HiZ08 SKD11 58-62HRC 80HRC a
@ T H-13  50-56HRC 80HRC @
g Material _?_L_I i A | B 2;'
SKD11 58-62HRC s s W Er
== ===
= y Yy R(4)
- L e
[ r I [t S
g N e = ChB
N —— 4 == —
o F%/ | | - m © n:'( :“;.H.C.S _‘c__l
z |.=El\ [ = Jai ¢ Female Male
¥ N —] f 7 | °
\_‘_./_ v
JLZ_-D‘% = 025 Z | bke 1TRIR T Catalog No. R+ Size o
h h W T A Be D 8 82 BAREL ¥
- i R8Typo MHModel | o vate o000 2000 oot ooviooe sor awn B el Price
YTL62x 125 825 .41 312 M: #6-32X5/8" F: #6-32X3/4" 250.00
S ' gm % B0y AB g TS ssp M #8-82X5/8" Fi #8-52x8/4" 300.00
YTL87 %150 875 750 .53 487 2 M: #8-32X7/8" F: #8-82x1" 850,00
. 1.500 500
ITHLH Catalog No R Size BAH(¥) YTL100x 150 75 a5 80 e 1.000 M: #10-82x1/2" Fy #10-82X1* 400.00
REType WS Model ¢ di d2 h lz Is | h a k Price DX050 YiLioox200| , .o, 109 4125 750 6 - 1875 ays Me #10-82X1" F: #10-s2x1-1/8" 450,00
Z08/20x20 4 M5 M4 12 4 3.5 28 14 20 20 500.00 S YTL112x200 | 1125 375 625 50 : 563 ’ M: 1/4-20%3/4" F: 1/4-20%1" 500.00
DXOS? Z08/25x25 5 M6 M5 13 8 EE 32 16 25 25 500.00 YTL112x300| 3.000 1.500 750 .78 1.1256 562 2,260 500 M: 1/4-20X7/8" F: 1/4-20x1-5/8" 550.00
YTL150x250| 2.500 1.500 1.3756 go5 1.000 750 1.750 .375 M: 1/4-20X38/4" Fi 1/4-20X1-1/2" 600.00
Z08/32x32 " M8 Mé 15 12 7.5 36 18 32 32 600.00 SHEATESEG0] 2.000 1750 1280 378 75 S i) heG oo M SIGTEXT Fy 6 18x1-14" i
Z08/40x40 M10 M8 17 10 9.5 45 225 40 40 700.00 YTL200x350 | 3.500 2.000 1.750 750 1.00 1.500 1.000 2.500 ° M: 3/8-16X7/8" F: 3/8-16x2" 700.00
57 58



XHBRRH

DAXIANG MOLD PARTS

> TARERH/ P SHrE LR
Multi-board positioning lock LOCKING BLOCK SETS-GL TYPE www.moldparts.cn

SWEMH YSLX...

H
- L )
- - WwWw.Roldpdrts.ch www.fholdpartsiert
& : A -
| @ —FP ‘@ i— ( Y {)_ -
]ﬁ L ™__sHcs s = Sl
e - = L : o B
& S
o o OHE DEE | ORERE ¢ 9 b 7]
e
'__S.H.CS H-12 50~56HRC 80HRC | . II'
Male Fatls SKD11 68~62HRC 80HRC ” ) weaus /[T )
E ; y { 2 =
i T ™ Catalog No. Rt Size ¥ 53 V(- o " J &
4 WX R P #4i(¥) ¢ 3 % |
"8 RSType  MZModel | ,0000 +000 +000 +000 O 2 R S Lo01 PAARBE prce s i ) s
f -.0004 -.002 -.005 -.002 *01 .0001/.0002 01 S.HC.S X<CHAMFER>/ ®
5 YSLXB0x87 | 2000 500 875 1375 65 750 187 812 250 #10-32x5/8* 400.00 f |
YSLX75x 187 1.376 500.00 R F
3000 750 250 -
§ DX060 e Tl 1.250 375 313 1/4-20x3/4 : §
Z YSLX100x137| 4000 1.000 1375 2375 1.500 500 500 375 8/8-16x1" 700.00 o I | Z
g 1 A= g
s g sos / /gy @
© SRS YPLF.. YPXM.. R /e =
3 3
§ PPLF S RIGHT HAND -§
: Rl EEgREN g
% © \N© ¢
@ 1/84x45° =
2 " , . % o K s 2
|‘J :‘ - ./ D_ oz LEFT HAND
> w2 o F
ol H -— ) R Material | Hardness | Heat Treatment ’) @\J h
| J_ SH.C.S NP ")
B Py = oHx N E=
C -~
| SKS3 HROSZ'~88 o0
-] f SKD11 HRCs@-g20 ' ocuumed
D 0NN - SKD11_se-e2HRC |
(8
1T F Catalog No. R+ Size hy) RE Type T C S D G F  POCKET Ri Rz X S(SHCS)
REType &% M?((-’;':'YLE A B ¢ D E WMBE o 4 4y xk L M N U Price R e +000  (RET) PELLET SCREWS
e DX062-100 5 1.0 0.85 0.50 0.25 0.75 0.36 O. 2 0.06 0.03 MALE:#10-32x1*
vmm ’mm-m: — f:go :.m P s 'ﬁ o e e e xﬁ 0.5 1.0 0.85 0.50 0.25 0.75 0.36 0.50 3/160rM5 0.22 0.06 0.03 FEMALE:410-3215/0°
: 5 ' : : DX062-150 1.0 1.5 1.35 0.75 0.31 1.19 0.61 0.75 1/4orMé 0.34 0.00 0.06 MALE:1/4-20x1-1/2"
YPLF-0002 YPXM-1002) ., 860 1470 . w0 waooxas 878 878 P a7 eo0 19 s10 om0 0N FEMALE: 1/4-20x7/8
e P e — s DX062-200 |15 20 1.73 1.00 0.4 1.56 0.73 1.00 3/BorM8 0.44 0.09 0.08 MLt 10X2
DX061 [fo 000 SHRRMEIN0S! s oo00 90 10000 1570 ie-text 688 875 >0 475 745 19 550 3750 T
ARNGE D). VEAM-208 B Ak e 860.00 DX062-250 20 25 211 1.25 0.56 1.94 0.86 1.25 1/20rM12 0.53 0.09 0.00 oo i o0 1" .
" D) YPXM-2004| , 100 :g ;g 18750 1.870  3/8-16x1 875 625 '::: 625 745 .50 .770 .3750 gﬁ
(2REQ YPXM-3004 - : ®Order: Type fE: EESMRET ES
YPLF-0005 YPXM-2005 . .. 1380 2800 .0 4o imxtaxtiie 875 750 70 750 1420 50 770 Sooo 10 Remark:Special product is available.
(2REQ’ D.) YPXM-3005 1850 3.390 925 750.00

59 60



XHBRRH

DAXIANG MOLD PARTS

> SArEESR/ P rRO° EARA /
STRAIGHT BLOCK SET-PL TYPE 0 LOCKING BLOCK SETS www.moldparts.cn

15 A 45

W#E| CEE | HRaeE M#ER | GEE | #AEE
Heat

E h
i HROsE-60° e HRCs6°-60° (AEALE &
| |
“% “%
?ﬂ Metric system(mm) ?ﬂ
Price - — 45148 BA/Speciality:
Type  Productcode| A B | € D = F f G J K L M N | 2# &%), D)
5 RMB i = 1. BB RAEE0° EAr il in TR =, g
= - g
S PL38 88 22 80 12 | 22 105 &5 7 7 22 13 5 8 | 210 ARBHXERRERT EiE S
a N 3 2 AFHARE, RIMEERSEHEBER, 3
g 2/ \e% . . mah 9
3 PLO 50 215 30 17 215 105 65 11 11 34 16 5 8 | 230 3. #H: SK3(HRC48°~50° ) 3
S 1. Can solve the 0° locking block sets'slot S
L] o]
2 DX063-1 pL7s | 75 36 50 25 36 165 105 18 18 50 19 8 12 | 325 @ ¢ processing problem effectively. =
g N, @
§ — 2. Apply to plastic mold which has very high §
PLi00 | 100 45 65 35 45 165 105 22 22 70 19 10 12 | 420 ’ . demand about plastic product's quality and
[@\ @l the tolerance of specification.
PL125 @ 125 45 65 45 45 16.5 105 22 22 84 25 10 12 | 500 ] . 3. Material: SK3(HRC48° ~50° )
Inch TR Catalog No. BH(¥)
TR Catalog No. Price 2 Type S Model A B C D E £ G H K T Price
A B D E L M N
£%5 Type =S Model £ F J a - i F?M{%
PL1.5 1.5 0.87 1.18 0.50 0.87 0.433 0.276 0.281 0.437 0.938 0.620 0.19 0.3 | 210 LMS50 50 20 25 25 125 34 cs Mé 30 17 400
DX064
PL2.0 2.0 0.87 1.18 0.68 0.87 0.433 0.276 0.375 0.437 1.250 0.620 0.19 0.3 | 230
LM75 75 25 30 50 25 52 cs M3 40 30 480
DX063-2 PL3.0 3.0 1.36 191 1.00 1.37 0.590 0.413 0.688 0.688 2.250 0.745 0.38 0.45 | 325

i EERLAMRAE T S
PL4.0 40 1.87 2.64 1.375 1.87 0.590 0.413 0.875 0.875 2.750 0.745 0.50 0.45 | 420 Remark:Special product is available.

PL5.0 50 1.87 2.64 1.75 1.87 0.788 0.555 0.875 0.875 3.500 1.120 0.50 0.6 | 500

ik I LS R T E

Remark:Special product is available.

61 62



XHBRRH

DAXIANG MOLD PARTS

> SRR/ > SArEEBRR
Taper Pin Sets Taper Blook Sets www.moldparts.cn

G1 D M
W 0
L]
: arts.cn www.moldparts.cn
(=] | i
[Th 0 1]
J - D- C-o.01
. GX45° M 0.01 0.0
-L..‘.Rj = e s . ] ?"’I .
-V . RO = S E . *-“—“‘
S . SO . A
e
T% 22 E | +o.03‘
E P$ o =i $ L 0 1 D"'C 0 E
fir (=] 23 8 I 0.1 - fir
@ 3 b
% o = #*
% VLo Jwmxi %
5 ci 1}
= M#E| DEE | #HieE M#R| DEE | #iE =
8, 8,
= =
[=] [=]
= =
= =
[’=] ['=]
% g
S . B
8 Metric system(mm) S
3 _ _ -
3 iTHI{RE Catalog No. BH(¥) T Catalog No. BH(¥) 2
2 reTye B gna | A L v E F MXI S  RSTe S Mode w L c D E G M ol ?
& 18 oot 14 6.5 6 5 M4X10 182 KY50 25 50 17.5 8 36 5 M5 185 &
T 14 10 6 5 M5X10 182 DX066-1 | KY100 | 30 100 22 10 60 5 M6 280
20 19 13 9 8 M6X12 200 KY150 40 150 25 13 100 5 M8 370
25 Ig'g;g 24 16 12 1 M8X16 236 Inch
DX065 : 5
30 29 20 15 14 M10X20 273 ST Galalog No. W L c D E G M RE(¥)
& Type & B Model Price
14
= 29 & 18 bl KY2.0 1.00 1.98 0.69 0312  1.4173 02  3/16'-24 | 185
+0.018
24 1 17 4
8 10,002 %4 B Misss DX066-2 | KY40 | 1.25 3.98 087  0.375 2.5 02  1/4-20 @ 280
= fad Ll =4 = Misxae KY6.0 | 1.500 5.08 1.00 0.500 4.0 0.2  5/16"-18 | 370
fEE: EEA R
Remark:Special product is available. #iE: EEUMRETES

Remark:Special product is available.

63 64





